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Y ARAY A

B RECKRICEIIREINIEHFEANILLD,

O 1t860kg = 1860 kg
@ 4kg 630g =| 4630 g
@ 10kg800g =| 10800 g
@ 1060m=| | km 60 m
® 17kg = 17000 g

® 102km =| 102000 m

@ 110000kg = 110t
® 19km 100m = | 19100 m
@ 80kg 200g = 80200 g
620000kg = 620 t
D9o005m=| 9 km 5 m
@ 720000¢g = 720 kg

/24

® 160kg = | 160000 g

@ 17t = 17000 kg

® 3km 10m = 3010 m
@® |1 10000g = 110 kg
@ 90kg = 90000 g
63km 900m = | 63900 m
5000m = 5 km

@ 60000kg = 60 t
@ 3t200kg =| 3200 kg
@ 18000g = 18 kg

@ kg 800g = 1800 g
@ 1004m = | km 4 m




